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Instructions : '
1)  Write in a clear legible handwriting. :
2)  This question paper has four Sections A, B, C & D and Question Numbers
from 1 to 39.
3) All questions are compulsory. There are only internal options.
4) The numbers to the right represent the marks of the question.
5) Draw neat diagrams wherever necessary.
6) New sections should be written in a new page. Write the answers in numerical
order.
7)  Question 39 is of map filling. Only for the blind candidates separate question

are given.

SECTION-A

Answer the following questions as required. (Each question carries 1 mark) [16]

Match the following correctly [3]
A) (B)

1) BhavnathFair (A) Dholka

2) Padhar Dance (B) Junagadh

3) MalavLake (C) Somnath

(D) Surendranagar

State whether the sentences are true or false.

4)
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The ‘Indian National Satellite’ launched by India is helpful only in the forecast
of weather and cyclone. [1]
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5) “Let us get good thoughts and Vibrations from all four directions”, is the
message of Upanishad. ' [1]

6) Deforestation can be said to be the result of progress of man. [1]

Answer the following questions in short.

7)  Which organisation resolves the trade related disputes arising between two
countries? [1]

8) A merchant from Kolkata orders onions from Karachi. Which type of trade
system is it known as? 1]

9) Forthe growth and development of non-conventional energy sources, which
organisation Gujarat is functional in the field of solar energy? [1]

Fill in the blanks with correct alternative :
10) state has the least area under irrigation. [1]

(Manipur, Mizoram, Meghalaya)

11) is not mentioned as a way of achieving salvation in ‘Shremad Bhagwad
Gita’. [1]
(Karma, Bhakti, Yoga)

12) Instruments, tools, houses are included in of the factors of
production. [1]

(Capital, Labour, Land)
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Choose the correct alternative out of the alternatives given for the questions.

13) Which of the following institutes has the given logo?[1]

(A) ISL (B) BIS.
(C) FPO. (D) LS..

14) Which of'the following river flows near the monument ‘The statue of unity’ [I]
(A) Narmada (B) Tapi
(C) Mahi (D) Daman ganga

15) A girl is on her way alone. Some persons with antisocial tendency tries to
harass her with intention of eve teasing. Which of the following numbers

should the girl dial for help? [1]
(A) 108 (B) 118
(C) 181 (D) 101

16) Ina classroom ateacher discusses about the steps taken by the government
for safety and security of elderly people. Some students gave their opinion.
Find out which of the students gave incorrect opinion? [1]

Jack — Elderly people are given more interest on the amount deposited by
them in bank or post office.

Jill >  “Old Age Home” with grand facilities are opened in every district.

David — Elderly people are given pension under the ‘National Policy for the
senior citizens’ of 1899.

John — Male and Female are given upto 50% discount/concession in bus,
railway or air tickets.

(A) Jack (B) David
(C) John (D) Jill
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SECTION-B

Answer the following questions in about 30 words. (Each quest*ion, carries
2 marks) [20]

17) Give an introduction of the tribe which contributed greatly in making Indian
culture variegated and prosperous. [2]

OR

17) Differentiate between cultural heritage and natural heritage.

18) A monument of India finds its place on the new five hundred rupee currency
note of India. Give its introduction. [2]

19) Inanartthe characters like Rangla-Rangli promotes social themes through
their presentation. Give an introduction of that art. [2]

20) What will you do as a part of maintenance cleanliness and preservation of a
picnic spot in your City/Village? . [2]

21) Describe the places of pilgrimages in India. (Mention any six) [2]

22) Define amultipurpose project. Write the objectives of amultipurpose project.[2]

23) Explain the types of forests according to administration. [2]
OR

23) Mention the reasons for the destruction of wildlife.

24) Under different five year plans what provisions have been made for the people
of schedule castes and schedule tribes? [2]
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25) Which remedies would you suggest as a future citizen to overcome the
problem of shortage of mineral resources in future? ) [2]

OR

25) Mention the characteristics and uses of copper.

26) Explain sugar industry which stands second after textiles in agrarian industry.[2]
OR

26) During a visit to West Bengal, it was noticed that people extensively used
Jute door-mats, ropes and gunny bags. What could be the reason for it?

SECTION-C

Answer the following questions in about 60 words. (Each question carries
3 marks) [24]

27) Explain a temple of north Gujarat which has been carved in Iranian style.[3]
OR

27) Write in brief about the architecture of Guj érat.

28) Divya’s father works in L.I.C. Bhavya’s father is a farmer. Preksha’s father
manufactures sewing machine. In which sectors of economy will you place
the father of these three girls? Explain in brief. 3]

OR

28) Mention the advantages and disadvantages of a system in which there is no
interference by the government? '

29) Define the terms: v [3]
1) Solitary resource
2) Resource

3) Soil Erosion
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30) Identify from the given picture the ancient university of India. Explain in brief.[3]

31) Give your suggestions so that peace and harmony can be maintained among
people of different religions living in India. [3]

32) Explain the statement, “Price rise is beneficial as well as hindrance in
economic development”. [3]

OR

32) Mr. Lobo purchases a T.V. of branded company from a famous shop. The T.V.
developed a fault during the guarantee period. He didn’t get a satisfactory
reply when complaint was lodged to the company? What suggestions would
you give to Mr. Lobo in this situation?

33) Out of the economic reforms in industrial policy to strengthen economic
development, what is meant by economic liberalisation? Mention its
advantages and disadvantages. [3]

34) India stands among the countries with medium human development in the
classification of countries on the basis of Human Development Index. What
should be done so as to bring India among the countries with Highest Human
Development? [3]
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SECTION-D

-

Answer the following questions in about 120 words. (Each question carries
4 marks) [20]

35) Give detailed information about ““Vastushastra”. [4]
OR

35) Explain chemistry as an experimental science.

36) In the picture a major food grain of India is shown. Identify it. Give detailed
information about the crop. 4]

37) Poverty in India is more deep rooted in rural areas as compared to urban
areas. What reasons do you think are responsible for it? « [4]

OR

37) Unemployment in India can be decreased through the opening of new areas
of employment to plan manpower. Explain.

38) Explain the reasons for more demand of child labour in India and the measures
to prevent it. [4]
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39) Youhave been given an outlined map of India. Label the following with suitable

symbols. ' ‘ . [4]
1) Wildlife sanctuary “
— Eturnagaram
2)  Aregion growing millet
3) A centre of shipbuilding industry (with name)
4)  The longest rail route of India (Vivek Express) (With any one junction) =
For Blind Candidates
1) Inwhich state is the wildlife sanctuary of Eturnagaram?
2)  Which state of India grows the maximum millet?
3) Name a centre of ship building industry.
4)  From where to where does the longest rail route of India pass?
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